E08-012

In each of these circuits, the resistor R has a large resistance and the resistor r has a small resistance.

For each circuit, say what you think the reading on the voltmeter will be, by writing one of the letters A-E in the box, as follows:


A
exactly 6V


B
slightly less than 6V


C
exactly 3V


D
slightly above 0V


E
exactly 0V




Reading on voltmeter V1
Reading on voltmeter V2



Reading on voltmeter V3
Reading on voltmeter V4
How confident are you that your answers to this question are correct? Tick ONE box ()


Very confident
Fairly confident
Not confident
Just guessing
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